[ Efficiency vs vertpos |

~0.05

$.045
2
20.04
(&)
$.035
O
£0.03
0.025
0.02
0.015
0.04
0.005

..................................

=B
fiiciend —— Dol
E|C|enc—'—D —fas

107 1

10 0?
TP vertr (cr%)

_Ulk%l_lldl SLE] llUdI TaSEL-TTEW (:'UIII

I~ it_sTe| ase]-| new [

?nqle ste, 2‘tt ar asel eom
ast_ste)

N 0.2
00.18F
n C
>0.16
>

8 C
$0.14F
(&) L
£0.12
[J]

0.1
0.08F
0.06F
0.04F
0.02F

...........

...........

...........

.................................

.................................

.................................

.....................

10 20 30
TP vert z (cm)

~ 0.5
>
D—_0.45—
£
175} 0.4
20.35F
0.3F
20.25F
0.2F
0.15
0.1~
0.05

y

)
c
9
:1:

............

............

............

...................................

...................................

...................................

0 5 10
Sim. PV z (cm)

nerlc step2 ttbar pﬂasel -newgeom



	Contents
	Page 1


